STATE OF INDIANA

DEPARTMENT OF LOCAL GOVERNMENT FINANCE



INDIANA GOVERNMENT CENTER NORTH 100 NORTH SENATE AVENUE N1058(B) INDIANAPOLIS, IN 46204 PHONE (317) 232-3777 FAX (317) 974-1629

TO: Vigo County Auditor

FROM: Department of Local Government Finance

RE: 2019 Certified Budget Order

DATE: Thursday, January 3, 2019

Enclosed is the certified 2019 Budget Order for your county. Please make one copy of all rates, levies, and budgets for retention in the County Auditor's office. We ask that you forward the original certification to each taxing unit in the county.

The following events occurred that led to the issuance of this order:

- County Assessor delivered the ratio study to the DLGF on 5/4/2018. (Due 3/01/18).
- Ratio study was approved by the DLGF on 5/31/2018.
- County Auditor certified net assessed values to the DLGF on 10/24/2018. (Due 8/01/18).
- DLGF certified the Budget Order on 1/3/2019. (Due 1/15/19).

Because at least one taxing unit in this county issued debt after December 1 or intended to file a shortfall appeal, pursuant to IC 6-1.1-17-16(k), the budget order deadline for this county is January 15, 2019.

Pursuant to IC 6-1.1-22-4, immediately upon the receipt of the tax duplicate, the county auditor shall give notice of the rate of tax per one hundred dollars (\$100) of assessed valuation to be collected in the county for each purpose and the total of the rates in each taxing district. This notice shall be published three (3) times with each publication one (1) week apart. The notice shall be printed in two (2) newspapers which represent different political parties and which are published in the county. However, if two (2) newspapers which represent different political parties are not published in the county, the notice shall be printed in one (1) newspaper.

ORDER

IN THE MATTER OF THE BUDGET AND TAX RATES FOR 2018 PAYABLE 2019 FOR VIGO COUNTY

THIS DEPARTMENT NOW ORDERS the attached budgets and rates for the various taxing units in the above-mentioned county shall be the budgets and rates for the year 2019. The County Auditor is directed to prepare the tax duplicate in accordance with this Order. Each of the several legislative bodies and the administrative officers of each of the municipal corporations are directed to allocate the funds to be derived in such a manner that the expenditures for the ensuing year shall not exceed the amount to be derived from the attached rates and no expenditures shall exceed the maximum included in the separate and several budget classifications. Nor may alterations be made in any budget or any separate budget classifications, other than specified in this Order, except as provided for in IC 6-1.1-18-5.

The County Auditor is directed to make this Order a part of the permanent record to be used in the preparation of the tax duplicate. The Auditor shall furnish to the administrative head of each taxing unit a certificate of information concerning the final rate and budget as certified by the order of the Department of Local Government Finance.

Dated this

day of

_____, 201

DEPARTMENT OF LOCAL/GOVERNMENT EINANCE

Wesley R. Bennett, Commissioner

2019 TAX RATES (Per Taxing District)

Year: 2019

County: 84 Vigo

ONLY

			ONLY
Taxing	District	2019 <u>District Rate</u>	2018 <u>District Rate</u>
001	FAYETTE TOWNSHIP	2.1264	1.9457
002	TERRE HAUTE CITYHARRISON TOWN	4.1456	4.1322
003	HONEY CREEK TOWNSHIP	2.0707	2.1841
004	HONEY CREEK TOWNSHIP - SAN	2.4283	2.3670
005	TERRE HAUTE CITY - HC TWNSHIP	4.0943	4.0812
006	LINTON TOWNSHIP	1.8540	1.9463
007	LOST CREEK TOWNSHIP	1.8803	1.9645
008	LOST CREEK TOWNSHIP - SAN	2.2379	2.1474
009	TERRE HAUTE CITY - LOST CREEK	4.1231	4.1075
010	SEELYVILLE TOWN	2.5704	2.4207
011	NEVINS TOWNSHIP	1.8844	1.9681
012	OTTER CREEK TOWNSHIP	1.9034	1.9993
013	OTTER CREEK TOWNSHIP - SAN	2.2610	2.1822
014	TERRE HAUTE CITY -OTTER CREEK	4.1029	4.0891
015	PIERSON TOWNSHIP	1.8890	1.9733
016	PRAIRIE CREEK TOWNSHIP	2.1028	2.1943
017	PRAIRIETON TOWNSHIP	2.1093	2.2028
018	RILEY TOWNSHIP	2.1044	2.2082
019	RILEY TOWNSHIP - SANITARY	2.4620	2.3911
020	RILEY TOWN	2.5231	2.5780
021	SUGAR CREEK TOWNSHIP	2.1323	2.2425
022	WEST TERRE HAUTE TOWN	3.7413	3.9053
023	TERRE HAUTE CITY - RILEY TOWN	4.1066	4.0945
024	LINTON TOWNSHIP - SANITARY	2.4396	2.3792
025	FAYETTE NEW GOSHEN FIRE	1.8997	1.9882
052	HARRISON SANITARY	2.1929	2.1095

NOTE: If applicable, conservancy district special assessment rates are not included in the above taxing district rates.

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0000 VIGO COUNTY

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0061	RAINY DAY				
		\$495,000	\$4,043,247,074	\$0	\$0.0000
Budge	t approved for displayed a	amount.			
0101	GENERAL				
		\$36,791,174	\$4,043,247,074	\$26,936,112	\$0.6662
Budge	t approved for displayed a	amount.			
Rate ro	educed to remain within standard 2015 REASSESS	tatutory levy limitation.			
012.	2010 1121122222	\$836,103	\$4,043,247,074	\$869,298	\$0.0215
Budge	t approved for displayed a	amount.			
	educed due to increased as				
0581	COURT HOUSE BND				
		\$205,000	\$4,043,247,074	\$202,162	\$0.0050
_	t approved for displayed a				
Rate re 0702	educed due to advertising HIGHWAY	constraints.			
0702	IIIOIIWAI	\$5,588,205	\$4,043,247,074	\$0	\$0.0000
D 1	10 1 1	, ,	Ψ1,013,217,071	ΨΟ	ψ0.0000
Budge 0706	t approved for displayed a LR &S	amount.			
0700	LR &S	\$856,237	\$4,043,247,074	\$0	\$0.0000
D 1	. 1 11 . 1		\$ 1,0 10, <u>2</u> 17,07 1	Ψ.	φοισσσσ
0790	t reduced due to advertising CUM BRIDGE	ng constraints.			
		\$811,877	\$4,043,247,074	\$1,018,898	\$0.0252

Department of Local Government Finance approval not required.

Cum Rate reduced according to calculation described in IC 6-1.1-18.5-9.8.

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 1 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0000 VIGO COUNTY

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate			
0801	HEALTH							
		\$1,671,313	\$4,043,247,074	\$1,609,212	\$0.0398			
Budget	t approved for displayed an	nount.						
Rate re	educed due to increased ass	essed valuation.						
1186	JAIL BOND							
		\$573,000	\$4,043,247,074	\$262,811	\$0.0065			
•	Budget has been reduced and approved for the displayed amt. Rate reduced due to reduction of operating balance according to IC 6-1.1-17-22. 1301 PARK & REC							
		\$1,272,360	\$4,043,247,074	\$1,390,877	\$0.0344			
Budget	t approved for displayed an	nount.						
_	educed due to increased ass							
2391	CCD							
		\$491,500	\$4,043,247,074	\$598,401	\$0.0148			
Budget	t approved for displayed an	nount.						
Cum R	ate reduced according to ca	alculation described in IC	C 6-1.1-18.5-9.8.					
			Unit Total:	\$32,887,771	\$0.8134			

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 2 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0001 FAYETTE TOWNSHIP

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0061	RAINY DAY				
		\$0	\$209,672,921	\$0	\$0.0000
Budge 0101	t has been decreased l GENERAL	because projected revenues are	insufficient to fund the ado	pted budget.	
		\$71,960	\$209,672,921	\$69,821	\$0.0333
_	t approved for display educed due to increase TWP ASSISTANC	ed assessed valuation.			
		\$16,700	\$209,672,921	\$1,468	\$0.0007
_	t approved for display educed due to increase FIRE	ved amount. ed assessed valuation.			
		\$30,650	\$12,068,831	\$33,817	\$0.2802
•	t approved for display educed due to increase CUM FIRE(TWP)	ved amount. ed assessed valuation.			
		\$3,822	\$12,068,831	\$4,019	\$0.0333
_	t approved for display approved.	ved amount.			
			Unit Total:	\$109,125	\$0.3475

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 3 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0002 HARRISON TOWNSHIP

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate			
0101	GENERAL							
		\$202,288	\$1,420,892,621	\$198,925	\$0.0140			
Budget approved for displayed amount. Rate reduced to remain within statutory levy limitation. 0840 TWP ASSISTANCE								
		\$566,289	\$1,420,892,621	\$602,458	\$0.0424			
_	Budget approved for displayed amount. Rate reduced due to increased assessed valuation.							
			Unit Total:	\$801,383	\$0.0564			

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 4 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0003 HONEY CREEK TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$31,445	\$906,467,613	\$19,942	\$0.0022
0840	TWP ASSISTANCE				
		\$39,250	\$906,467,613	\$26,288	\$0.0029
			Unit Total:	\$46,230	\$0.0051

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 5 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0004 LINTON TOWNSHIP

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0061	RAINY DAY				
		\$1,355	\$134,829,950	\$0	\$0.0000
Budget 0101	t approved for displayed an GENERAL	nount.			
		\$27,000	\$134,829,950	\$22,112	\$0.0164
To fund the 2019 budget, this unit is authorized to transfer \$716 from the Levy Excess Fund. Budget approved for displayed amount. Rate reduced due to application of levy excess fund. 0840 TWP ASSISTANCE					
		\$6,000	\$134,829,950	\$0	\$0.0000
Budget	t approved for displayed an FIRE	nount.			
		\$44,350	\$77,045,678	\$45,226	\$0.0587
_	t approved for displayed an educed due to increased ass				
			Unit Total:	\$67,338	\$0.0751

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 6 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0005 LOST CREEK TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$185,465	\$378,728,857	\$128,389	\$0.0339
0840	TWP ASSISTANCE				
		\$30,750	\$378,728,857	\$0	\$0.0000
			Unit Total:	\$128,389	\$0.0339

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 7 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0006 NEVINS TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$45,000	\$68,241,515	\$36,782	\$0.0539
0840	TWP ASSISTANCE				
		\$4,500	\$68,241,515	\$0	\$0.0000
1111	FIRE				
		\$31,810	\$68,241,515	\$25,932	\$0.0380
1190	CUM FIRE(TWP)				
	,	\$10,000	\$68,241,515	\$9,281	\$0.0136
Rate A	pproved.				
			Unit Total:	\$71,995	\$0.1055

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 8 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0007 OTTER CREEK TOWNSHIP

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0061	RAINY DAY				
		\$2,149	\$332,362,490	\$0	\$0.0000
Budge	t approved for display	ed amount.			
0101	GENERAL				
		\$77,900	\$332,362,490	\$25,592	\$0.0077
Budge	t approved for display	ed amount.			
Rate ro	educed due to increase L/R PAYMENT	ed assessed valuation.			
		\$136,000	\$332,249,640	\$122,600	\$0.0369
_	t approved for display educed due to increase TWP ASSISTANC	ed assessed valuation.			
0010	TWT TIBBIB THIVE	\$31,925	\$332,362,490	\$19,942	\$0.0060
_	t approved for display				
Rate ro	educed due to increase FIRE	ed assessed valuation.			
		\$162,290	\$332,249,640	\$135,890	\$0.0409
_	t approved for display educed due to increase CUM FIRE(TWP)				
		\$327,000	\$332,249,640	\$109,642	\$0.0330
•	t approved for display Rate reduced according	ed amount. g to calculation described in IC	6-1.1-18.5-9.8.		
			Unit Total:	\$413,666	\$0.1245

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 9 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0008 PIERSON TOWNSHIP

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0061	RAINY DAY				
		\$2,000	\$90,737,344	\$0	\$0.0000
Budge	t approved for displayed GENERAL	amount.			
		\$32,522	\$90,737,344	\$19,871	\$0.0219
_	t approved for displayed				
Rate re	educed due to increased TWP ASSISTANCE	assessed valuation.			
		\$12,866	\$90,737,344	\$5,898	\$0.0065
_	t approved for displayed educed due to increased FIRE				
		\$62,310	\$90,737,344	\$40,015	\$0.0441
_	t approved for displayed educed due to increased CUM FIRE(TWP)				
	,	\$35,000	\$90,737,344	\$29,127	\$0.0321
Cum R	-	amount. calculation described in IC	6-1.1-18.5-9.8.		
1301	PARK & REC	\$9,100	\$90,737,344	\$4,991	\$0.0055
_	t approved for displayed educed due to increased	amount.	, ,	,	
			Unit Total:	\$99,902	\$0.1101

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 10 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0009 PRAIRIE CREEK TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL	\$24,100	\$57,011,465	\$16,704	\$0.0293
0840	TWP ASSISTANCE	\$11,500	\$57,011,465	\$4,960	\$0.0087
1312	RECREATION	\$500	\$57,011,465	\$0	\$0.0000
			Unit Total:	\$21,664	\$0.0380

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 11 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0010 PRAIRIETON TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL	\$13,165	\$43,343,427	\$0	\$0.0000
0840	TWP ASSISTANCE	\$6,400	\$43,343,427	\$19,288	\$0.0445
1312	RECREATION	\$1,560	\$43,343,427	\$0	\$0.0000
			Unit Total:	\$19,288	\$0.0445

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 12 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0011 RILEY TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate		
0101	GENERAL						
		\$27,850	\$164,777,413	\$9,722	\$0.0059		
Lesser of unit adopted or prior year budget because budget not properly appropriated. Lesser of unit adopted or prior year levy because of improper adoption. TWP ASSISTANCE							
		\$13,320	\$164,777,413	\$18,949	\$0.0115		
	Lesser of unit adopted or prior year budget because budget not properly appropriated. Lesser of unit adopted or prior year levy because of improper adoption.						
			Unit Total:	\$28,671	\$0.0174		

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 13 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0012 SUGAR CREEK TOWNSHIP

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0061	RAINY DAY				
		\$25,000	\$236,181,458	\$0	\$0.0000
0101	GENERAL				
		\$240,771	\$236,181,458	\$120,925	\$0.0512
0840	TWP ASSISTANCE	¢259 501	¢227 101 450	¢142.654	\$0.0604
1212	DECDE ATION	\$258,591	\$236,181,458	\$142,654	\$0.0004
1312	RECREATION	\$7,000	\$236,181,458	\$3,779	\$0.0016
			Unit Total:	\$267,358	\$0.1132

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 14 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0106 TERRE HAUTE CIVIL CITY

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$32,310,919	\$1,865,047,973	\$30,014,217	\$1.6093
Budge	t approved for display	red amount.			
_		in statutory levy limitation.			
0341	FIRE PENSION				
		\$2,295,259	\$1,865,047,973	\$27,976	\$0.0015
Budge	t approved for display	red amount.			
	educed due to increase				
0342	POLICE PENSION				
		\$2,229,116	\$1,865,047,973	\$164,124	\$0.0088
Budge	t approved for display	red amount.			
	educed due to increase	ed assessed valuation.			
0706	LR &S				
		\$922,000	\$1,865,047,973	\$0	\$0.0000
Budge	t approved for display	red amount.			
0708	MVH				
		\$4,165,424	\$1,865,047,973	\$649,037	\$0.0348
Budge	t approved for display	red amount.			
Rate re	educed due to increase	ed assessed valuation.			
1301	PARK & REC				
		\$2,596,351	\$1,865,047,973	\$3,720,771	\$0.1995

Budget approved for displayed amount.

Rate reduced due to increased assessed valuation.

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 15 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0106 TERRE HAUTE CIVIL CITY

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate			
2120	CEMETERY							
		\$600,317	\$1,865,047,973	\$725,504	\$0.0389			
Budget	approved for displayed	amount.						
Rate re	educed due to increased a CCI	ssessed valuation.						
		\$124,000	\$1,865,047,973	\$0	\$0.0000			
_	Budget approved for displayed amount.							
2391	CCD							
		\$663,000	\$1,865,047,973	\$818,756	\$0.0439			
Budget	approved for displayed	amount.						
Cum R 6301	ate reduced according to TRANSPORTATION	calculation described in IC	C 6-1.1-18.5-9.8.					
		\$3,049,468	\$1,865,047,973	\$298,408	\$0.0160			
Budget	approved for displayed	amount.						
Rate re	educed due to increased a	ssessed valuation.						
			Unit Total:	\$36,418,793	\$1.9527			

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 16 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0903 RILEY CIVIL TOWN

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$38,500	\$5,724,368	\$23,968	\$0.4187
Budget	t approved for disp	played amount.			
Rate re	educed due to incre	eased assessed valuation.			
0706	LR &S				
		\$20,000	\$5,724,368	\$0	\$0.0000
Budget 0708	t approved for disp MVH	played amount.			
		\$27,679	\$5,724,368	\$0	\$0.0000
Budget 2379	t approved for disp CCI	played amount.			
		\$6,500	\$5,724,368	\$0	\$0.0000
Budge	t approved for disp	played amount.			
			Unit Total:	\$23,968	\$0.4187

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 17 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0904 SEELYVILLE CIVIL TOWN

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$164,391	\$19,403,147	\$64,515	\$0.3325
Budge	t approved for displ	layed amount.			
Rate A	pproved.				
0706	LR &S				
		\$47,741	\$19,403,147	\$0	\$0.0000
Budge	t approved for displ MVH	layed amount.			
0700	1/1 / 11	\$162,431	\$19,403,147	\$0	\$0.0000
Budge	t approved for displ CCI	layed amount.			
2319	CCI	\$0	\$19,403,147	\$0	\$0.0000
Budge	t reduced due to ad	vertising constraints.			
			Unit Total:	\$64,515	\$0.3325

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 18 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0905 WEST TERRE HAUTE CIVIL TOWN

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL	\$625,250	¢27 924 525	\$600,700	\$1.6090
0706	LR &S	\$635,350	\$37,836,525	\$608,790	\$1.0090
0700	ERCOS	\$35,000	\$37,836,525	\$0	\$0.0000
0708	MVH				
2379	CCI	\$122,188	\$37,836,525	\$0	\$0.0000
2319	cci	\$5,000	\$37,836,525	\$0	\$0.0000
			Unit Total:	\$608,790	\$1.6090

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 19 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 8030 VIGO COUNTY SCHOOL CORPORATION

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate				
0180	DEBT SERVICE								
		\$8,831,547	\$4,043,247,074	\$8,599,987	\$0.2127				
Budget	Budget approved for displayed amount.								
Rate re	Rate reduced due to reduction of operating balance according to IC 6-1.1-17-22.								
3101	EDUCATION								
		\$103,000,000	\$4,043,247,074	\$0	\$0.0000				
Budget	approved for displayed	amount.							
3300	OPERATIONS								
		\$40,615,729	\$4,043,247,074	\$21,873,967	\$0.5410				
Budget	Budget has been decreased because projected revenues are insufficient to fund the adopted budget.								

Budget has been decreased because projected revenues are insufficient to fund the adopted budget. Rate reduced to remain within statutory levy limitation.

Unit Total: \$30,473,954 \$0.7537

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 20 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0229 VIGO COUNTY PUBLIC LIBRARY

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$8,428,053	\$4,043,247,074	\$6,598,579	\$0.1632
_	t approved for displa educed due to increa DEBT SERVICE	yed amount. sed assessed valuation.			
		\$420,531	\$4,043,247,074	\$327,503	\$0.0081
_		nd approved for the displayed an sed assessed valuation.	nt.		
			Unit Total:	\$6,926,082	\$0.1713

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 21 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0334 VIGO COUNTY SOLID WASTE MANAGEMENT DIST

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8210	SP SOL WASTE MA				
		\$452,750	\$4,043,247,074	\$0	\$0.0000
			Unit Total:	\$0	\$0.0000

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 22 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0871 TERRE HAUTE SANITARY

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8280	SP SAN DEBT SER				
		\$5,933,425	\$2,818,818,731	\$10,080,096	\$0.3576
_	has been reduced and appr duced due to reduction of o	1 •			

Unit Total:

\$0.3576

\$10,080,096

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 23 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0872 TERRE HAUTE INTERNATIONAL AIRPORT

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate			
8101	SP AIRPORT GEN							
		\$2,718,004	\$4,043,247,074	\$1,556,650	\$0.0385			
Budget	approved for displayed ar	nount.						
Rate re	duced due to increased ass	sessed valuation.						
8190	SP AIR CUM BLDG							
		\$100,000	\$4,043,247,074	\$80,865	\$0.0020			
Budget	Budget approved for displayed amount.							
Cum R	Cum Rate reduced according to calculation described in IC 6-1.1-18.5-9.8.							
			Unit Total:	\$1,637,515	\$0.0405			

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 24 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0958 HONEY CREEK FIRE PROTECTION

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8603	SP FIRE GEN				
		\$2,487,637	\$809,456,649	\$2,051,163	\$0.2534
8691	SPECL CUM FIRE				
		\$276,052	\$809,456,649	\$269,549	\$0.0333
Rate A	pproved.				
			Unit Total:	\$2,320,712	\$0.2867

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 25 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0970 NEW GOSHEN FIRE PROTECTION DISTRICT

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8603	SP FIRE GEN				
		\$148,878	\$197,604,090	\$120,538	\$0.0610
8691	SPECL CUM FIRE				
		\$48,615	\$197,604,090	\$50,982	\$0.0258
Rate A	pproved.				
			Unit Total:	\$171,520	\$0.0868

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 26 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0981 LOST CREEK FIRE PROTECTION DISTRICT

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8603	SP FIRE GEN				
		\$182,175	\$184,470,876	\$124,518	\$0.0675
			Unit Total:	\$124,518	\$0.0675

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 27 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 1005 PRAIRIETON FIRE PROTECTION DISTRICT

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate		
8603	SP FIRE GEN						
		\$287,000	\$100,354,892	\$255,102	\$0.2542		
8691	SPECL CUM FIRE						
		\$31,000	\$100,354,892	\$31,813	\$0.0317		
Cum R	Cum Rate reduced according to calculation described in IC 6-1.1-18.5-9.8.						
			Unit Total:	\$286,915	\$0.2859		

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 28 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 1023 RILEY FIRE PROTECTION DISTRICT

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8603	SP FIRE GEN				
		\$450,800	\$164,305,625	\$400,577	\$0.2438
Budget	approved for displayed	amount.			
Rate re	educed due to increased	assessed valuation.			
8684	SPECL FIRE DEBT				
		\$74,456	\$164,305,625	\$54,714	\$0.0333
Budget	approved for displayed	amount.			
Rate re	educed due to increased	assessed valuation.			
8691	SPECL CUM FIRE				
		\$30,000	\$164,305,625	\$50,935	\$0.0310
Budget	approved for displayed	amount.			
Rate A	pproved.				
			Unit Total:	\$506,226	\$0.3081

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 29 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 1086 SUGAR CREEK TOWNSHIP FIRE DISTRICT

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
8603	SP FIRE GEN				
		\$435,000	\$237,566,309	\$421,918	\$0.1776
Budget	t approved for displayed	amount.			
Rate re	educed due to increased a	ssessed valuation.			
8684	SPECL FIRE DEBT				
		\$99,914	\$237,566,309	\$90,988	\$0.0383
Budget	t approved for displayed	amount.			
Rate re	educed due to increased a	ssessed valuation.			
8691	SPECL CUM FIRE				
		\$53,000	\$237,566,309	\$57,729	\$0.0243
Budget	t approved for displayed	amount.			
Cum R	ate reduced according to	calculation described in IC	6-1.1-18.5-9.8.		
			Unit Total:	\$570,635	\$0.2402

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 30 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0039 BUSSERON CONSERVANCY DISTRICT

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$0	\$20,593,800	\$8,176	\$0.0397
Rate re	educed due to increas	sed assessed valuation.			
			Unit Total:	\$8,176	\$0.0397

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 31 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0042 PRAIRIE CREEK-VIGO CONSERVANCY

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$28,258	\$159,060,600	\$22,905	\$0.0144
			Unit Totale	¢22.005	CO 0144
			Unit Total:	\$22,905	\$0.0144

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 32 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0049 HONEY CREEK-VIGO CONSERVANCY

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$758,582	\$628,087,500	\$799,555	\$0.1273
			Unit Total:	\$799,555	\$0.1273

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 33 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0104 WEST VIGO LEVEE ASSOCIATION CONSERVANCY

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$128,900	\$57,327,400	\$94,590	\$0.1650
Budget	approved for displayed an	nount.			
Rate re	educed due to increased as	sessed valuation.			
0990	CUM CHAN MAINT				
		\$0	\$57,327,400	\$0	\$0.0000
Budget	has been decreased becau	se projected revenues are	insufficient to fund the ado	pted budget.	
Cumul	ative fund rate cannot be in	ncreased over previous ye	ars rate until the fund is re-	established.	
2393	CUM CONS IMPROV				
		\$8,730	\$57,327,400	\$19,090	\$0.0333
Budget	approved for displayed as	nount.			
Rate A	pproved.				
			Unit Total:	\$113,680	\$0.1983

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 34 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0332 MOVEOVER LAKE CONSERVANCY DISTRICT

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$30,000	\$1,875,100	\$30,000	\$1.5999
			Unit Total:	\$30,000	\$1.5999

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 35 of 36

2019 BUDGET ORDER

Year: 2019

County 84 Vigo

Unit: 0847 GREENFIELD BAYOU LEVEE & DITCH CONS DIST

This unit qualified for an abbreviated review by the Department of Local Government Finance, pursuant to IC 6-1.1-17-16(c).

	<u>Fund</u>	Certified Budget	Certified AV	Certified Levy	Certified Rate
0101	GENERAL				
		\$60,250	\$7,384,500	\$52,615	\$0.7125
			Unit Total:	\$52,615	\$0.7125

IC 6-1.1-18.5-17 and IC 20-44-3 require that each year the Department of Local Government Finance certify to each unit of local government figures that show one hundred percent (100%) of the tax levy for each fund. If the property taxes received exceed one hundred percent (100%) of the levy, the excess shall be receipted to the "Levy Excess Fund" unless the amount in any calendar year is less than \$100.00 for a civil taxing unit or \$10,000.00 for a school corporation.

1/3/2019 Page 36 of 36